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QUESTION 1

The display startup information of the AR2200 router. Regarding these information, the statement is wrong ()

A. The system file at the next startup of the device can be modified with the command "startup system software"
B. The running configuration file is not saved

C. The system file used for this startup of the device is ar2220-v200r003c00spc00.cc

D. The system file cannot be modified when the device is started next time

Correct Answer: D

QUESTION 2
"The network administrator created VLAN 10 on the Layer 3 switch and configured an IP address under the virtual

interface of the VLAN. When using the command "display ip interface brief to view the port status, and found that the
VLANIF10 interface is in the dow state, what should be done? Operation to restore the VLANIF10 interface to normal?

0

A. Assign an interface that must be Up and must be of type Trunk into VLAN 10
B. Assign any physical interface to VLAN10

C. Assign a physical interface that must be Up to VLAN 10

D. Use the command "undo shutdown" under the VLANIF10 interface

Correct Answer: D

QUESTION 3

What identifies the coverage area of an AP in a WLAN? ()
A. SSID

B. BSSID

C.ESS

Correct Answer: C

QUESTION 4

Router A. and Router B are established OSPF neighbor relationship, the OSPF process number of router A. is 1, and
the area number is 0. Which of the following configurations on router A can enable router B to obtain the route of the
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network segment where host A is located? ()

A. ospf 1 AreA.0.0.0.0 Network 192.168.1.2 0.0.0.0

B. ospf 1 Import-route direct

C. ospf 1 AreA.0.0.0.0 Network 192.168.0.00.0.255.255
D. ospf 1 AreA.0.0.0.0 Network 192.168.1.00.0.0.255

Correct Answer: BCD

QUESTION 5

The two switches shown in the figure below have both enabled the STP protocol. Which port will eventually be in the
Blocking state? ()

Bridge 1D Bridge ID
4096:0001-0203-04AA 32768:0001-0203-04B8
SWA SWB

-— GO/O/3 GO/O/3 g
G002 GOo;/2
A. SWAW's G0/0/3 port
B. SWA\W's G0/0/2 port
C. G0/0/2 port of SWB

D. G0/0/3 port of SWB

Correct Answer: D
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